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l. (A) What is Accounting Standard ? lmfulemcntation of Accounting Standards in
India is a criminal waste of time'and money. Critically examine the above
statement.

OR

What do you understand by Financial Statement ? Enumerate its characteristics.
(B). Answer (any two) of the following : .

(1) Write short note on users and uses of Accounting information.

(2) Briefly explain the content of AS-5.

(3) Write note on harmonization of Accounting Standards.
(C) Answer the following questions in one or two lines only : 3

(1) Whatis IFRS?

(2) What is the nonm for valuation of Inventory as per AS-2 7

(3) When income from advertisement is recopnized 7

2. Following is the Balance Sheet of ABC Limited as on 31* March, 2016. 14
Liabilities . L4 Assets 4

10% Preference shares of T 100 each | 1,65,000 | Land and Building 6,05,000
Equity shares of ¥ 10 each fully paid 5,50,000 | Machineries 3,59,700
Reserves and Surpluses 2,91,500 | Motor vehicles 1,26,500
15% Debentures - 2,20,000 | Goodwill 55,000
Trade Creditors _ 99,000 | Debtors 1,01,200
Bank Overdraft 55,000 | Stock 1,10,000
Unpaid Expenses 22,000 | Bills Receivable 22,000
’ Cash & Bank 5,500
Fictitious Assels 17,600
14,02,500 14,02,500




The details of Trading and Profit & Loss Account are as under :

Total Sales (Cash sales are 25% of Credit sales) 11,00,000

Less : Cost of Sales 7,70,000
Gross Profit 3,30,000
Less : Administration Expenses and Depreciation 99,000
Less : Interest on Debenture 33,000
Profit before Tax (Tax rate is 50%) 1,98,000

rig Ratios. Write critical note on each and

From the above particulars calculate followi
fitability and financial stability. Standard

give your opinion regarding company’s pro
Ratios are given in bracket :

(1) Current Ratio (2:1)

(2) Acid Test Ratio (1:1)

(3) Debtor's Ratio (30 days)

(4) Gross Profit Ratio (35%)

(5) Net Profit Ratio (10%)

(6) Rate of Return on Capital Employed (20%)
(7) Retumon ordinary share Capital (15%)

(8) Stock Tumover Ratio (6 times)

(9) Proprietory ratio (75%)

(10) Gearing Ratio (0.75)

Consider 360 days in a year.
OR



The Balanc.e Sheet of X limited as on 31-03-2015 and 31-03-2016 are as follows :
[ Liabilities 31-3-15 | 31-3-16 Assets 31-3-15 | 31-3-16
Equity Shares of | 2,00,000{ 3,00,000 | Goodwill 62,000 | 50,000
2 10 each ; ‘
10% Redeemable 80,000, 4,000 ildi
Pref. shares of T 10 Gt irdides | S0R0 ) 208 D
™ each 8 paid up
Profit & Loss A/c 1,00,000 1,80,00Q | Machineries at Cost| 30,000 2,00,000
JGeneral Reserve 80,000{ 1,05,000 | Fumniture 33,000 [ 69,000
Security Premium 9,500( . 250 | Debtors 45,000 | 60,000
J€apital Reserve 2,000{ 20,000 | Bills Receivable 30,000 | 40,000
Capital Redemption - 45,000 | Cash & Bank 42,000 | 1,20,000
Reserve
J | +5% Debentures - 50,000 | Stock 40,000 | 1,00,000
18% Bank Loan ~ 40,000\ Débenture Discount|. 6,000 1,000
\/Tax Provision 40,000| 52,000 | Preliminary 15,000 | 10,000
Expenses
Creditors 15,000 20,000
Bills payable 4,500 18,000
Qutstanding 22,000 5,750
Expenses
Depreciation Fund 20,000 30,000
on Machineries
5,73,000/8,70,000 5,73,000 | 8,70,000
Other Information :
(1) Bonus shares were issued during the year from General Reserve in the proportion
of 4:1.
(2) Dividend was declared at 18% in the year for the previous ending on 31* March,
2015.
(3) Debentures were issued at a discount of 10% during the year.

“4)

(5)
(6)
)
)

MW-101

A notice was issued for redemption of Pref, Shares and unpaid instalment on the
shares was called. However call money was received fully on all shares except
500 shares and Pref. Shares were redeemed at 15% premium on 30-06-2013. For
this purpose equity shares were issued at 10% premium and the rest out of profit.
Final liability for Tax for 2014-15 was determined to be ¥ 30,000 and it was paid
up. The surplus from provision for tax was transferred to General Reserve.

A machine costing T 30,000 on which the accumulated depreciation was ¥ 8,000
was sold for T 18,000.

A piece of Land was sold and the profit was transferred to Capital Reserve. No
other amount except this was transferred to Capital Reserve.

A loan of T 50,000 was obtained from the Bank on 1-4-2015. It was to be repaid

in five equal annual instalment.
Prepare Cash Flows as per AS-3.

14
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3. (A) From the following prepare Gross Value added'statement for the year ending 31"

MW-101

March, 2016.
Particulars 7 -
Sales (net of Discount, retums and sales tax) 2.00,000
Other Incomes 10,000
Raw materials purchased 80,000
Opening stock of Raw materials ' 5,000
Closing stock of Raw materials 7,000
Opening Stock of Finished Goods 15,000
Closing Stock of Finished Goods 20,000
Director’s Remuneration 10,000
Auditor’s Remuneration 8,000
Interest on Term Loan 5,000
Interest on Bank Overdraft 2,000
10% Debentures 30,000
Dividend on Capital 7,000
Local tax 1,000
Rent and tax 4,000
Bad Debt Reserve 2,000 -
Profit transferred 10 General Reserve 9,000.
Depreciation 2,000
Administration Expenses ; 12,000
Losson sale of Asset 5,000
Tax provision - 3,000
Wages, salaries and other benefits to the employces 24.000
Provident Fund 30,000
Excise duty (To be considered as Expenses) 4,000

10

Balance profit was retained by the business. Accumulated balance of profit as on

1* April, 2015 was ¥ 30,000.
OR
Explain the objects, advantage and disadvantages of Inflation Accounting,

P.T.O.



(B) Writc the salient features of Lev and Schwartz Model for Hum

4. (A)

AN TN1

an Resource

Accounting,
OR
Explain the concept of Social Responsibility Accounting.

July to take over running
hares and balance
| Iastitution. The
the amount

A Limited Company is to be incomomlcddon'l“ !
business. It is proposed to raise T 20 lakhs by issuing equity S
capital required in first six months is to be financed by a Financia
latter is to be given 12% Debenture to the nearest ¥ Lakhs above

required, secured on Fixed Assets.
Initial investment consists of ;

Free Hold Buildings T 8.00 lakhs
Plant & Machineries T 5.20 lakhs
¥ 2.40 lakhs

Vehicles and other items
Payment on account of above is to be madein the month of Incorporation.

Estimates and other information for the transactions for the first six months
commencing from July are given below : ' .
(1) Expected Sales would be as under:

July % 5.00 lakhs
August T 6.001akhs
September T 7.20 lakhs
October 2 8.80 lakhs
November T 9.20 lakhs

December and next two months : Each month T 9.60 lakhs.
(2) Gross profit on cost to be at the rate of 25%.

(3) Decbtors are to be given credit of two months.
(4) Creditors are to be paid at the end of the month following the month of

purchase.
Preliminary expenses 2 20,000 to be paid in August.

General cxpenses T 16,000 per month payable at the end of each month.
Wages payable on the first day of the next month, T 28,000 for each of first

three months and T 34,000 per month thereafter.
Debenture interest is to be paid every six months on 30" June and 31*

December. .
(9) Assume that shares and debentures are issued on 17 July.

Prepare a cash budget for the six months ending 31* December.
OR

What is Zero Based Budgeting ? State its m

12

()
(6)
(7)

®)

erits and demerits.



(B) The following cost data is made available to you. 4
Year 2014 2015
Sales (2) 1,00,000 ?
Cost of sales () 82,000 96,000
Profits (%) ? 24,000

find out: (1) P/V ratio (2) Break even point (3) Margin of Safety and the pr~“*
in the year 2016 when sales would be 25% more than the previous year.

OR
Explain the concept of Relevant cost and sunk cost with proper examples. 4
5. Select the most appropriate answer from the altemnatives given, 14

(1) From the following details find out cash outflow for purchase of Machine.

Opening and Closing Balance of Machine (at Cost) are respectively ¥ 1,000 and
¥ 1,400. During the year Machineries were sold for ¥ 300 on which
accumulated depreciation was ¥ 100. Loss on sale was 2 50.

(a) 750 (b) 2850
(¢) 2700 (d) None of the above

(2) Which one of following is not financing cash flows as per AS-3 ?
(a) Interest paid on Debentures issued by the company.
(b) Interest received on Investment in Debentures of other company.
(¢) Dividendpaid on Shares. '
(d) Noneofthe above

(3) Which AS deals with computation of EPS ?
(a) . AS-13 (b) AS-20
(c) AS-16 (d) None of the above

(4) Calculate Gearing ratio from the following :
Equity Share Capital : 10,000 Equity shares of T 10 each.

12% Debentures : T 1,50,000.

10% Preference Share Capital : 500 shares of T 100 each

(a) 1.00 (b) 2.00

() 5.00 (d) None of the above

PlTlo‘
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(5) 1f the fixed expenses are ¥ 48,000, variable expenses per unit is ¥ 4 and bresk
even point is 3,000 units, what will be selling price per unit ?

(@) T12 b) 120
€ R16 (d) None of the above

(6) !vlurgin of safety is 30% : P/V ratio is 25%. Break even sales ¥ 1,40,000. What
is profit at present level of sales ?

(@ 45,000 (b) 15,000
(¢} 60,000 (d) None of the above

(7)  Find out required sales in units to eam the profit of ¥ 10 per unit, from the given
below details :

Sales price per unit : T 100
Variable cost per unit : T 80
Fixed expenses : ¥ 1,20,000
- (a) 6,000 units q{b) 12,000 units
(c) 4,000 units (d) None of the above
(8) Which of the following statements is€orrect ?
_(a) When Break even sales is more than actual sales, firm is earning profits.
| @ When there is margin of saféty, fifm is eaming profits.
(c) At break even firm is eaming profits.
(d) None of the above

(9) If Gearing ratio is 40%, Gearing adjustment is T 80,000, cost of sales
adjustment is ¥ 1,00,000, Depreciation adjustment is T 70,000 then find out
Monetary Working Capital Adjustment.

—(a) R 1,00,000 (b) 30,000
(c) < 68,000 (d) None of the above

( lO)' Employee has to work for three more years till retirements. His annual salary is
2.2.00,000. Rate of discount is 10%. Annuity of ¥ 1 for 3 years at 10% is
% 4867. What is the value of this employee by Lev and Schwartz model ?

(a) ¥6,00,000 (b) 497340
/(c) ¥ 5,40,000 (d) None of the above

(11) Which one of the following is considered Non-monetary item with reference to
Inflation Accounting ?

(a)- Debtors (b) Closing stock
_(c) Cash apd Bank Balance (d) None of the above
MW-101 ' 14



(12) wh;
ile -
under tl‘:;el'!;’“"ﬂg value added statement, which of the following is not shown
: eading of value added retained by the business ?
a)

Transfer to General Reserve
n (b) Bad debt reserve

(€)  Transfer to Fixed assets Replacement Reserve
(d) None of the above
(13) At Break even point :
(2) Only variable costs are recovered
(b) Both fixed and variable costs are recovered
(c) Only fixed costs are recovered
(d) None of the above
(14) AS-16 deals with :
(a) Accounting of Foreign Exchange
(b) Accounting of Borrowing cost
(¢) Accounting of Government grants

(d) None of the above




